Autumn Test 3

1]41= 2 | 632486 =

3 =8x8 q %—F

u-||—x

5| 7X =28 6 | 9X25X4=

7 | 274X 7 = 8 | 2894 + 4524 =

=) = 4.5 X 100 10| 45+ 100 =

1" % X 720 = 12 | 734,264 + 374,298 =
13| 2= 14 | 6535 -6 =
15|1-7= 16| ;- +4-

U U
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Autumn Test 3 (continued)

17 | 2+3x3= 18 | 7—253=

U U
19 l—xé—= 20 — 475 = 3842

U U
21 =4+ 22| 15%0f 420 =

O O
23 2%_1‘11_: 24| 05x8=

U U
25 ’ 26

X | 8|4 216|7 4

(2 marks) (2 marks)

U U
27| 7852+ 5= 28| & 2=

U U
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Autumn Test 3 (continued)

29 =3-9 30| 25+8%x2=

31 =032+ 10 32 =

u-||—x
w|—\

~
[Total marks /34
J
How well did you do? T sls[n]w]v]a
Colour the numbers of the - 2 | 15])18 )20 (23
questions you got correct. X 35|67 ]9 M| [17]19|24]25](29
+ 110|114 |26]27]|28]30
Fractions 4 n 16 |19 | 21 | 23 | 28
Decimals 9 |10 |18 |24 27
Missing no. 5120
BIDMAS 17
Percentages | 22
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